Battery Mount

BM-E8010

@ TL-BMEO02

ITEM

SHIMANO

NO. CODE NO. DESCRIPTION

1 Y72U00003 M4 BOLT KEY COVER

2 Y72U00008 KEY UNIT COVER ASSY

3 Y72U00001 M5 BOLT KEY UNIT

4 Y72U00007 SPACER KEY UNIT

5 Y72U00004 M3 BOLT LOWER CASE
Y72U00018 UPPER CASE ASSY 200

6 Y72U00015 UPPER CASE ASSY 250
Y72U00014 UPPER CASE ASSY 300
Y72U00017 UPPER CASE ASSY 600

7 Y72U00005 M5 BOLT LOWER CASE F

8 Y72U00006 M5 BOLT LOWER CASE R

9 Y72U00010 SPACER LOWER CASE

10 Y72U00011 RUBBER LOWER CASE

11 Y72U00012 LOWER CASE ASSY

* 12 YEZY00014 TL-BMEOQ2 Battery Mount Setting Tool

Jul.-2020-4043B
© Shimano Inc.

Specifications are subject to change without notice.

SHIMANO



